Ppr 2R A AL LB R P iy 2 &

2] & 3
CELUARE HES4E)

16 p & & W EIPILES (contral series) e=3, CH=3ChC - Ch=O
i, IR T2 (factor group) 3:/3:-1 BERBITAE Siv1/di-1 WL (center). 3i41/3;
TSV IR%E, MORMERPIZE (relative commutator group) (Fivi3i+1) C 3 IEN
TEE v/ Fima WIIRDEEE Girr Bind)/ & JBIR 3i/Gimr. BIZOREIRI L. 450,
Ro WIIRAEZR BN 3o WU, ASSCHEMIEFRARALZE ISR IR p 25 & 1E—IFYE,
{REER & MR bE S Mk, TSR ITRRAEE T 1 S 5.

JIi AR BEHRIL Hans Zassenhaus:  Lebrbuch der Gruppentheorie 144 16 Brikey:

e & WEREBALIT (unit element);

G:e & BYRE (order);

5 & Wy (center);

Ze (O E ) WA T AR — TR RO TR — U T R AL

=B e R A B 2D, © £ O O PMERE;

D@ & WRAEAL (commutator group);

(a,b)y = aba='b" & PILFHK « J L WPALTTHR (commutator).

DTHEeE O £y & G:e=p" O WHRAEAE D6 IR O il s DG
ﬁyaﬁﬁlﬂfa‘ DG =), £ DO W — I TE, JRALS p7, DG e =

r L. 4, Ly St
—y B e
DG C N MO LS a b, o RPEIEEE (a0 b) WGERTIA 4 T
B

* 19025; 2127 Hles
50
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(1.1) aba~l=10%= (aba~'b~YYb=(a,b)b=b(a,b)

(1.2) (a,8) = (b, a)"L.

(1.3) (ab,¢) = (a,c) (b, c).

i labe)y=abclab)~'c ' =abch ta ¢!
=adalcl=ac(bc)alc! He (1),
=aca-1(b,c)c!

=c¢(a,c)(b,c)c™t = (a,c)(b,c).

(44) (ayas - am, byby - by) = ﬁ ]n[ (a;, b)),
i=1 j=1
G =12, by (=2 ) 5 6 B
(1.3) (@™, b7) = (@™, bY* = (a, by = (a, b)y™.
(1.6) a*bY = b7 a*(a,by™
2o (15), (@8, b7) = (a,b)”, P @ bYa b = (a, by,
LA a" b7 = b7 a¥ (a, by = (a, b)? b¥ a'.
1.7y (&*bYy* = (a, B)™ Elﬂ?;l)a”” by,
2 (@YY = (a, b)Y @ b (a bY Y2 = (a, by TR @3 B (aF by

I (a’ b)xy(l+2+-u+n—l) ac by

2(72=1)

— (@, by @,

(1.8) (a=',b) = (a,5-Y) = (b, a)

o (aa‘l,b*) =(e,b) =e, R (aa',b) = (a,b)(a~1,0), Jilh(a,b)(a=1,b) = ¢,
JEA (a1,b) = (a,b6)"" = (b, a). ’

(1.9) (a,b)=e B asZy, béZg

(1.10) (b, a) = (c, ), R (be=a) = e, AL be=TeZq.

2 (beda) = (ba) (oL a) = (b a) (e a)-t H (13), (1.8

=(c,a)(c,a) =e¢.
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Z F o piEs

(2.1) F DG = ). c WRRAA 7. B 6 P B TTHK g BB (8. 8) = ¢
DG = (1) PE—IC R HBIRAITHE.

R Ay BB G PIATICHE, 1 e y) = 0 <o = p B o P AT
oo B p B, Wi (woxo) = o HIGMIHRR opre=1 (mod p") fiREHME 10 = ¢,
WL (2, 079) = (g ) = 90 = ¢, T SEPPAEE.  WRAIEIE— o AR p BE,
oA e T, N S <o SELp HEMIERE. FrTEALICHK O B8 oW
B, R RBALIC R A B A R AL () BRESE, R DG =) W
RS, S O AT — e & & B (2.3 = K (1), HME IR ¢,
(8% 8) = (8,8 =, it DG PWMEE LR EHBMITHE.

(22) B (8.8) =¢, Zg Ly 470 & P g 8 MIRHPOTHELR, ) & = (g) 74
=(g) ZLg

g s B O MEER &)= sgsT =g P T Wk
(conjugate) £S5 2" . W (g.8) =1t glgg™ =8¢ =12 ") &g B
BWILHER (conjugnte set) 5 40,805 F7" =5 W ($:e/lg:e) =2 B
BLCERUPCR B =" L Gie=(Zz:ap™ B aeF3 05 <ag )y,
BT (coset) g* 7 ﬂﬁﬁ*% o 1 WL HH) g C Zg WL (20.8)
= (@) == R0 <P <a=p" JEFSRWEE. M/)’” % 277
=2 ) WAL, Till 7 EERIEAT ) (Vo) = § e IHTEH
&l&bﬁb:ﬁgvgég+ b g? T g, Ell & = (g) - Ly X(g,g):(", e,
e (15) (B.8) =1(8%¢g), Bibh &gg =gt (=12, BiLh g FilEeslk
PR gt.80, 'wgf”’”ig‘ [l R M PARER] O = (2) - Zg

(23) B @& =6 Ly=(@)  LgO L) 1y=(g) (Lg N1y

B B MEEICIA V WS ICE R TE, INZBE 7, 0 7 WE
TR HOTHE, @) L N2y B4 I H Lo+ 3, B $ pfi—x
Selp Wi o5, W selz B = R lng)F o G (ng) = (.8 = e
R selg N7 AN seB) (2, N7 =3 Wil s&3 MEGRIET. 4
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(ng)=rh 0L <pm B E) = (15,05, (@ag) =700
= (F @V (s ) =177 V= o, W Frsely VA selz $ & selg 8 56 2q N 7,
B ose(g) (7o 0 7)) =3, BB s WMRERAPE, i 7:= @) (2, N 7Zp. [
BB TTEAREM 7, = (&) - (7, 0 7).

2 Bles =0 remaE=a Hadns é&—éﬁ ® = (&1, 81.3),

Zig, K5 65 TPHL G5 WOAE LR T HERY ST T PR OAE, ) OO = O - 7, = Zg, - Oy,
G0 zg, =%

WM (22 (23 G = (@) Zg = (&) (@) (Le, O 7z) HIR Zg O 1z,
= Zigrz0 == Tigoiom = L, BIE 6= 631 Vg, FroseCh O 7, W selo, &
s L Gh WEIEAR, B se G M s S Vo, WG IR BBk s L G5 = 6% - Lo,
WEBIEH, L <63 S~ 3 C G C 7o, FEBL 3 C G5 N 2oy BB
& N 76, =5

(25) WD =0 Cat WREES 7 (gn8) =1, 8 g.z.) EFR—T
G = (g g3 Al & B BIRY 3 WA dsRmaRsss pm /3 8 () B
DE/ €N

WO e BRY S MEBREASS o I o6l (@80 = (@ B = =
JEPA d == 0(modp™).  Ji—FTH | (g = = e, HEO(19) @nels, JiEA
e el N g = Lo, #2427 eG 0 Ly, =5 BBk p7 == Olwoedd) By
Bhod =y ORETTER E BRI S B AR . P G0/ B ()

D7 15 Ve, BREER B Dig = H 6= Gn RFE selo, A
s B 2o, MIEITERHR, - R & WEITEM, AR sed RE Yo, TH X
3w L 7w, = % AR = G Lo, = B = G B D Le, F e B D Lo,
= () C (N C R Dlg o= pm (0 <mym), ] @"=rc B e, T
o A b= T DY, — (1) R Vg, BPESER ¢ B 3 B
#Fos B 7o, WOPEL AL BR G Zo, =G WP 3 W 3 C Yo, B Ze,
Wy RS G5 WP 3 Ar =, m=my. & Dig, F e B DZlg, = (1) T3,



o T WRRARALE e, K D7, T "l”f%‘—‘fé?ij’é 3tk <9.4> o
65 = G Lo, WIS TRIREETTER 7o, W20 2o, = O 70,6 & = (22, 82.3)
(o) 7 i B O Lm0 = 3 xrlﬂtf'ﬁ&gifiﬁTi@ ,'f; 1 63 f\m’fj% ,f;,;;}g;x_
WTEES: ) = B G G (o= (g @0 (en @) = b= " mo=my = my
Z oz e 2 '%’ L, (5 WATTRICHL 6% MR ICRHOTHE, 1
¢%: NGy =35 FE R, &1

BRI 1 Fp O MR DG B-RERAER G 8T 5 D6
=N Chp DG e=pn A G THMBIAFMEE: G=0CG -G Gs B
i 7, (% WAESCHR G YW T ZROTHE, B 65 0 O =3 Ay ¢ =t m = ny. O
Toln s e FE AL

& = (e 8 (g 8 =1, = 7" im=my 2= Z o, (== 1,2, 0007,
G5 WMATEE D= (), DGhze=prili=1,2,--,n). & K g B § WH
BERIMAES 7 O SR © WP TR G/ = F T (e
Py BENREE. S =t my tma o o 5 ZBEES p WIARBIGE.

W G35 = § £ (pra i pre pre, o prn ) SYRIHEE, iDL o= =
my = e = m BN 6 AR 6 B B O C 2
FREL G = G5 Zags, (i == 1,2, o) H O N Loy, = 3y WIS se@r 0 Zoy, 1 s
BRG5: WAETE IR Lo, WORETCRIRTTRE, B s €3 # 05 0 Yo, © 3 T & © O,
5 C Yoy, RO N L=

WEFR 1 h PR O WM—fARKIC @ 8100 80 s
HUR. HASEES @ g =n=0""n=m =z =
ik () = gng) = G = (@ g =e g R
B

(2.6) FEEID LM &= (g gnd), HIUUET U RE <7838
Wsa<ph, O sy < P zed)

oW oo Koo B3 RS o S O = (g0 80 3) HIMOT
FHARS gl 3 B 02 <pi, 0y < pmzed). ARERL—E

- g HHASRE G Wy
iy, (E== 1,2, -+
BB 5 TAHIZS Ak

T

1%

gl
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M. & gr=2l3 0= <pi, 0= )y <prizedy A (gh g0 = (gl 3.8 =-e
B (g @) =L, B 7 e BB 2= Omad pty, {10 £ 2 < p, JiLLh a = 0;
WAL & = =gl =, f;';:'" = hedo HOEPR 1. BRY 5 e ARy o PiBL
y == 0Quodpmy, i1 0=y < ]/"”i, Bk y=0z=ec 2 ogtglz= v g
O a< i, 0 b <l p, 0 o <M, 0= Vo< pmi,zed, 2l e, i
g‘/,-'/‘]’ U e — = 00D = b= 00 AN a=d b 2

FIE 2 EW L OPPIHEER, B gL gm e BBAL G WM—HLE, B O
"J } —I_' = ?“C Ay

25

glgl - grEl = O o <pri, 0 Ky <P, i=1,2,-++,71,z83)

R, oo csezed M) se @ (i=1,2, ) ze 3 Sl seJ=1,20001)

D st = sp8 v sim1 Sigr c e SpzE Ly, BLs7 e B HRIE STTe 0 Y, = 3 TR

3 =
Si¢n BX
=D =ap =b P —=d
“—(ligl1 g;l/ gr’l o == Ecll g’]ll v girg;{r;/ (U é w; < /,7'11. g b < ]/”L

O < pmi, 0 oy < pliy i=1,2.-+,7r, zed, 2/e3). Al

+ @5 B (0l wliN=1 g3 (4 S (0.6 fATLg - = d,
Rt (&M EM) (g9 ed (= 1,2, ,r) §i (20 6) AR @ =cn b= ds

(e 1,2, ,1), 2=z \

3]

=B oM B O%
(31) B Ve A58 2 AT 2 FUSPRAIES, HERRIERIU IR, o 15
Wt HiI7 I g — SR O S e

o 4 = (an al?')———)/.l”:( 5% “”12)

oy A —a ay

1Z /tulﬂ’r 5#5%14 IR 1% B AL PR IN SRR O/, NIEfESRE I 1,2 2 TR
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S D UERE I A B, AT 0 (A0 = AL i) (A - B = BO - 4% 5ii) (A + B

v . R ) L
=AY B ) s (0 ] 1:)’ A S A AR

e mTLE I B ‘;‘iﬁﬁ.
(5.2) 2% Wb SIEAT 20 4T 20 FYHBEAE, TPy ST AR,
Wear Hr 7L

ay by ot ay by,

ey dyy c ¢ dyy

X = . . -
\(1,.1 Doy oo v e by
Ny thpy v+ Crp
fir Mo P
- aiy b =10 ey
A 2 (Cij {]ij) b7 T ?

ﬂim¢+hf/€ ‘\7 ) (\)zj - \ 7]‘41 2
R R 'PTWFMH'F}'JF/E%E’J?P fﬁﬂﬁff
0: X=(Xz) —>X¢ (X¢); = )\;’J, o (3.1) JPEDE.

o X = (X)) —> XL (XY =X (j=1,2,--,7).
fir or =0, QI Mo PAEE LB N, Y AT
D (AT = (XM= XY 1) (AN =X, iii) (X)) = = XY, 0 (5.0 PrEss.
W) (X 1) = X4 10, v) (N 10 = 10\,
B0 i) BRI SRRAR, AR

((X ¥y = (Z Xip ¥y )® = Z Yo XG B (30) Wy ) R i)
Ae=1
= 2 (Y0 (N = D (VO (N0 R ¢ WIEH:
el b=t

= (YO Xy,
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FEA (X Y07 = Yer xeT,

BB (X Y)0 = Y0 X0,
G3=F B (prupm, - pmpm) BUAGE,

By ool e 5 ) FORAHLEE, $EFR 2, 3%

0 a; <pm, 0 b, < P,

e pllgl B
],s = glsl gl‘sx e

hs - g‘l’sl _{sl

(1

Asp ‘ol
&rT &5

Zs, Z5ER,

PN gﬁsr g;{sr Zg, Z, € 3’

gs = hgst BBt o RO Tisr 2], 2le 3,

25 = h"lysl fi‘{sl

o B i3 B e R,

<
IA

[}
IA

=173 -
X 81,810

* "grvgl‘ ﬁ' 11'17

(s =1,2, ++,7)

Cq < P, 0= d; < pm™,

(s =1,2, 7).

Qg < pmi, 0 =<- ﬂsi > Pmi’

(i, = 1,2, +,r)

0 é 7,-,' < })mi, 0 é (55,' < ])mi,

(i,S: 1121 "'9")'

W G/3=F STHE # § PTEmSAREEANE BATERAE,
AIBRRA mod 3, (1) XEEH

hy,=aqg + ba §1 + oo gt bsrgr'

ﬁs:Cslg1+(/Slg1+

gs=0‘s1hl+5slf71+

§s=7’s1711+6s1711+

(mod 3).

0< ag <pmi, 0 < by < pi, (s,i=1,2,-++,1)

+ o gr + dsr ér'

(mod 3).

0=cu < Pmi» 0=da < Pmi (S, i=1,2,-- '»7‘)

+ gty + S 7. (mod3).

0<

+ Yo bty + O By (mod 3).
0 é ;/Si < ,)ﬁli’ 0 é 651' < Pmi (S7i: 1~27 t '77.>

AFMEE @) ATES

]Il
Iy

i

(3)

B

ay by -
oy dyy -

by o

Cr1 eyt

-y by
c1p dip

arr brr

Crr Arr

(mod 3),

sr
&r

st <Pmi, 0= .gsi < pm (S,i: 1,2, “‘,7‘)
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&1 i P WP ]}1
2 Yo O e O, Iy
= o T ' (mod z).
&r Upi P v Uy [ Ity
\‘Z",- 7'r A/'l o Ve (‘;r/* ]}"
WX W, 7Bl
a;; by ay B
(4 P T Ty = 0 I = M= (7T
(A i ij ((_I_/ (/ij> Sy ij (?’ij ()L-]->
. — _— /)mj }/mj
(5) M = (M), My = (_,,mj ,/"/)'
) ) . . 00 /jrn—mi 0
(6) Pep ik Py=(y o) Pe= (T )
. - - = 00 = 0
7 5o (. % ool P -
(/) P - (»\-[)11\” fiy b '/: /s Pl/ - (U 0 )’ ])“ ' ( 0 //”i)'

B R

Iy \ &1 Iy
Iy & Iy
. . . .
= = 17N (mod 3)
i i Iy
4, Zr I,

I h B by B X WRRERRBIAELS pri G- L2, Sl
() TH =T = (mod A7)
Wi 2B M PR undtonateix), NS TP ==11"T P =P (mod M P,
i M P =0 twed p O £5 N WRZEHRE, BCA
(9 TP ==1"TP==  (modpm).

A PRGFLESEAESATH O KPP T FoRZ, AR T TSR
AR IET IS
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I 3 FH O RPHM T FRE ¢ ZRGHLEM AR, Q3T B
R 1F£5
TPy =P (rmod p)
T P (4, (6) i, T'— 1" fn (5.2) IiESR.
= EREZMEE, i (1) 5

(is g5) = (hg, iy = P i (i, &) = (g 7.1,’}]'5) = P E j

(oo y) = g 1) = 07", (g ) == (o, ) = 1= "%
(10)

gir ) = (g, ) == "7, gi ley) = (g, @) = 7" i

&is 1 &n s Eir iy &1 B

BT = (G @90) = 1100 (g ) = (g, ) = =753
(10) ¥MERE o/ = 1.2, - HRR, #%H

(]Ij’ {%‘i) — = T— (gi» /Ij>—1 — ~7;’71—~7ﬂi71j;‘

(Jojo @) = 177" ") = (g, By~ ' = 0"

(Gf = 1,2, 1)
P15 5 — =1 I g
(/l], Zi) =17 i = (gz. hj) = {7 ji

(}_Ij, glj — L_7)711—771j Yij = (gi, ]—Ij\—l — 17’m_mi"ji

P By = e g Dy (mod P
pm—m]' 0y = })’”"”i ({ji (mod //m)

(11) ({j=1.2-n
P»,,l,.,,,j (5 })m g tl (IPO(I /lm\

P Yy == — Py (mod P
LK
o r . ) az’j f/))lj (/)m—mj 0 \
PR B L P =
(][ P)lj ]Z 13 ik / ki /7 ij P}/ ( o O ) \ U //m—mj)

iy Yy

B ( ]}m -my Uz’j }/”"mj |3ij )

l)nl—m/' }/ij ]}m— mj ()‘ij
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(P 1™, z P (1) = Py (T = Py 1% = (]/"l(;mL (i | )( /. — by )

])m mj _ (’ji ajl

( pm——m[j (/__ —_ pm_’”i b]z )

IS 72 Eo 70 ¥ L =111 .
14 ‘ ( V4 ¢ 4

B (0 WSS )Py == (PTY (med py, Gy 1,2, Bk
7P = PTY (modp™y, TH P == T P71 (mod py, $ (9), TN P = Gnod p),
(12) TPTY==P  (modp™).

DUFRE (12) IR TSt

g (12), TPTYI =PI (modpmy; fIL P5=P, PTOI = Py(I T
= (1T PY, B (9 TTT P =P (mod ™), gL TP ==PIY (medp™).
(O)(7) WsEZEI PP == 0 (wod ). {eht PTP==PPI =0 (modpm). R

r r
(PT Py = 3 (Pl T (P = Py 1y Py
=1 u=1
B (])m]; 0 _)(11” /lij ) ( /}m ; 0 ) ~ ( )m+ml 7/ ay p m I'mj—m].]ij)
0 ])'”i o !/i,‘ 0 /Immml. 7,”1’*'"1£_”'l Cij Pm i»uzj—mj /{ij
. },m frp—m; i }IHI—H/IL my [)ﬁ ( 0o
e L),
rﬁl’)\ (]”/,+Illi_1”j “ij /jm«l»mi-—mj (li]' ) 00 ) (“10( V )
_ Py by 00y ) e
13) == (mod p") 7= 1,2, e ).
( : (/)"’L( » L5 {[l ) ( 00 } nod g ) 2y ,/)
r
b4 (1P 1Yy, = 2 Z (1 (P (1) == zm, S (1 (P (1)
A==l ft=] §=
’ N0 s S Ny i, — G5 dyy
o iﬂis }}175 ‘%‘ Ais bis
me—nts | =g
| o= o ‘:’ e by
i ])m m, s i I =11ts { is ;5 "
s=1 s s = 1 lejs s
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M (1) SUEFR 1 50

(g, Byy) = ll g ghis, giis glrs) = ll (g%s, g0 (glis, g5/s)

s=1
i mv—m ajy Disy é: m—m,:i’”is ;’15
[ \(/Sllis“— 5=l i€js s u’/‘:Lg’...,;.)
”
(15)  (haky) = " (gais ghis, gs glis) == |} (guis, glis) (glis, gs)
5= s=1
n n s his P’” ng s Ds
" P lagsbys e t‘_l s ts] 6,y = 1,2, -,
s=1 -

(i;,i’ 7]]) ][ (n ‘is ,r'shc’ g%s n-’]]S) = ]l \,rus rr’7/c) g’lm ot Js)

s=1 s=1

cis dish < Pt 1Cis ‘]"

M- g 7 e} l( . PN N
/s’/s =17 s j] {\7'7/:1727"'7/:]

L7

'g‘ 7P ]”J == (\IHOd /)m)1 lbq!j’i (14), (15) ﬁ[]»fi}. (/1,/7 /[/) = Q/I,L', Z]) = kliiv /[j) -
Uiy = e, B is=] W Ul ="M (i= 1,2, 1)
R e ST, BRI 5 ARSI A S pe = 1,2, VR (17) 4

h = {4t gibas . - g% glirz, zeds L= L2,

. L= 12

[=v5Y

T o, XCH BT o e o TChr e 5 5. e
hy == g{*A BTA & AT g A2y Z3 €

P a;- prr /)1,-> — (0 ())

0 o) o G 2 ),

Bow=p i (15)
FRBL B e, e d == 1,2, Ve, B B = B e
HY (W 0g) = e = " ™) JAIE pmmas 20 Gnod ), ML v = 0 (mod p7), fif
B B 5 BOHIBHGANRES 7 WIBESTRE 5 BT 5 RLEHBAATRAS

E (5) IP &1 glv ) gr @*“;\ﬂl[&, g’ P17 e=p (and /),11)7 Béﬁg’ I # /

Py P dyy
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(ho hy) = (i, By) = iy ) = (b, By) == e, (hi B = 0777 by, o by BRAS 3 GRS
RIALS pri (0= 1.2, -,r), 8 huhy o b B SRESRE 6 —HLEE.

FIE 4 RO PHM T FFE G OPRAEMM—#m TP =P
(mod p™), ARPEEEH RS & RHEMRESSGMPL mod W BEE—E. &
[ M 4n (5) PriEsE, KB Pt 6) PrE. '

B/ ST £ Do WHEE, B/ TP1IY =L (nod p7), SPS =P (mod p™),

8 Bm TW==W T=FE (modd), $ (11), WP=PT" (mod p™), jj
CLW P == P T (mod p™), Tij P10 WY = P (W T)) = (W TP, WIP==P
(mod M P), MP == 0 (mod p™), FjBL WPWI= P (modp™). R FEPF = p
(mod p™), JiEAS Q@ WME—TTH T A-—-BCHERPAICH.  HLAHE
FEKIE, 2L R H—&
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ON p-GROUPS WITH CYCLIC COMMUTATOR SUBGROUP
BELONGING TO THE CENTER

SneENG-LIEH laou

Let 9 be a p-group of order p7, its commutator group 12 (%) being
cyclic and belonging to the center 3, of ). Suppose that the order
of D() 1s p™, and D (%) = () where ¢ is a generating element of
D(%). Itis proved that the factor group (.3 = [y is an Abelian group of
type {p7i, pr, pme, pte, - e p™y o where mo=my = my Z -0 Z
The order of § is p*, r =, + m, + m,. & is the product of its sub-
groups (4;,(%,, - - -, ..

6 =, 5,

2 r

When i # 7, elements of 9, commute with elements of (3, and (83, N (3, =1,
73 i i i 'y ¢

The group &,(1=1,2,...,r) is defined as

o — o - o g . PP o .
9, = (gp&n3) & i=unt&y gi=uwuey, the commulator of g; and

g; = """ Any element X of (% can be uniquely represented as

X=git-git- - girglrz 0= ay <pm, 05y <P zed

Such elements g, &/, + -, 2,.&, are called basis of (.

The transformation of two bases cun be represented by a matrix
of M, where M, is the set of all 21-rowed square matrices with integral

elements. It is proved that the necessary and sufficient condition for the



64 ® 2 0B # 2 %

matrix T to represent such a transformation is that 7P 7% = P (mod p™),
Where P=diag {pm—m;’ pm—ml, pm'—mg’ pm—'mg, .. _pm—mr’ pm—mr;’ and 9 be a
transformation

9: T e T9, (T and I° in My,)

of M,, specially defined such that (A+B)'=A"+B, (4B)=DBA
(A=A for every 4 and B of IM,,. The totality of such matrices 7

form a group.



